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¶ß±Ó¬fl¡ ¬Û±Í¬Sê˜  ( B.D.P.) 
ø˙é¬±¬ı¯∏«±ôL ¬Û¬ı˛œé¬±  ( Term End Examination )  

øÎ¬À¸•§¬ı˛, 2015 › Ê≈√Ú, 2016 

‹ø26√fl¡ ¬Û±Í¬Sê˜ ( Elective ) 

õ∂±Ìœø¬ı√…± ( Zoology ) 
¸5˜ ¬ÛS ( 7th Paper : Ecology and 

Environmental Biology ) 

¸˜˚̨ – ≈√̋ ◊√√ ‚KI◊± ¬ Û”Ì«̃ ±Ú – 50 
Time : 2 hours Full Marks : 50 

[ ˜±ÀÚ¬ı˛ &èQ – 70% ] 
Weightage of Marks : 70% 

¬¬Ûø¬ı˛ø˜Ó¬ › ˚Ô±˚Ô Î¬◊M√√À¬ı˛¬ı˛ Ê√Ú… ø¬ıÀ˙¯∏ ˜”˘… Œ√›˚˛± ˝√√À¬ıº 
’qX ¬ı±Ú±Ú, ’¬Ûø¬ı˛26√ißÓ¬± ¤¬ı— ’¬Ûø¬ı˛©®±¬ı˛ ˝√√ô¶±é¬À¬ı˛¬ı˛ Œé¬ÀS Ú•§¬ı˛ 

Œfl¡ÀÈ¬ ŒÚ›˚˛± ˝√√À¬ıº Î¬◊¬Û±ÀôL õ∂Àùü¬ı˛ ˜”˘…˜±Ú ¸”ø‰¬Ó¬ ’±ÀÂ√º 

Special credit will be given for precise and correct 
answer. Marks will be deducted for spelling 

mistakes, untidiness and illegible handwriting. 
The figures in the margin indicate full marks. 

1º øÚ•ßø˘ø‡Ó¬ õ∂ùü&ø˘¬ı˛ Î¬◊M√√¬ı˛ ø√Ú – 10 × 2 = 20 

 [fl¡]  ”√̄ ∏Ì fl¡±Àfl¡ ¬ıÀ˘ ∑ õ∂±ÌœÀ√¬ı˛ Î¬◊¬Û¬ı˛ fl¡±¬ı«Ú ˜ÀÚ±'±˝◊√√Î¬ 
[CO], ˝√√± ◊̋√√ÀE±ÀÊ√Ú ¸±˚˛±Ú±˝◊√√Î¬ [HCN] › 
’±À¸øÚ«Àfl¡¬ı˛ (As) é¬øÓ¬fl¡¬ı˛ õ∂ˆ¬±¬ı ’±À˘±‰¬Ú± fl¡èÚº 
¬ı±˚˛≈”√̄ ∏Ì øÚ˚˛LaÌ ¬ÛXøÓ¬ ’±À˘±‰¬Ú± fl¡èÚº  

   1 + [2 + 2 + 2]  + 3 

   ’Ô¬ı± 

  ¸—¬ı˛é¬Ì fl¡±Àfl¡ ¬ıÀ˘ ∑ ˆ¬±¬ı˛ÀÓ¬¬ı˛ ø¬ıøˆ¬iß õ∂±Ìœ õ∂Ê√±øÓ¬¬ı˛ 

’¬ı ≈̆ø5¬ı˛ fl¡±¬ı˛Ì ø˘‡≈Úº ¤'-ø¸È≈¬ › ˝◊√√Ú-ø¸È≈¬             

¸—¬ı˛é¬ÀÌ¬ı˛ ¬Û±Ô«fl¡… ø˘‡≈Úº IUCN ˘±˘ Ó¬±ø˘fl¡±¬ı˛ 

[Red data list] ∆¬ıø˙©Ü…&ø˘ ø˘‡≈Úº  

   2  + 3 + 2 + 3 

 [‡¡]  ì¬Ûø¬ı˛À¬ı˙ ˜±S˝◊√√ ¬ıU ˙Ó«¬ ¸±À¬Ûé¬ºî — ’±À˘±‰¬Ú± 

fl¡èÚº ¬Ûø¬ı˛À¬ıÀ˙¬ı˛ ¬ı±À˚˛±øÈ¬fl¡ ˙Ó«¬&ø˘¬ı˛ ¬ı±dÓ¬±øLafl¡ 

&èQ ’±À˘±‰¬Ú± fl¡èÚº ø˙fl¡±¬ı˛Ê√œø¬ıÓ¬± › 

¬Û¬ı˛Ê√œø¬ıÓ¬±¬ı˛ ¬Û±Ô«fl¡… ø˘‡≈Úº 4 + 4 + 2   

   ’Ô¬ı± 

  øÚ˙ƒ fl¡±Àfl¡ ¬ıÀ˘ ∑ ◊̋√√Àfl¡±˘øÊ√fl¡…±˘ Sê˜ ¬Ûø¬ı˛¬ıÓ«¬Ú 

¸•ÛÀfl«¡ ’±¬ÛÚ±¬ı˛ ˜Ó¬±˜Ó¬ ¬ı…Mê√ fl¡èÚº ¬Û¬Û≈À˘˙ÀÚ¬ı˛ 

‚ÚQ øÚ˚˛LaÌ ¬ÛXøÓ¬ ’±À˘±‰¬Ú± fl¡èÚº 2 + 3 + 5 

2º Œ˚-Œfl¡±ÀÚ± øÓ¬ÚøÈ¬ õ∂Àùü¬ı˛ Î¬◊M√√¬ı˛ ø√Ú – 6 × 3 = 18 

 [fl¡¡]  ˆ¬±¬ı˛ÀÓ¬¬ı˛ ø¬ıøˆ¬iß ’¬ı˛Ì…ˆ”¬ø˜, Ó¬±À√¬ı˛ ’¬ı¶ö±Ú › 

õ∂±ÌœÀ√¬ı˛ Î¬◊¬Ûø¶öøÓ¬¬ı˛ ¤fl¡øÈ¬ Ó≈¬˘Ú±˜”˘fl¡ ’±À˘±‰¬Ú± 

fl¡èÚº 6 
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 [‡¡]  ◊̋√√Î¬◊À¬∏C±øÙ¬Àfl¡˙ÀÚ¬ı˛ Œ˚-Œfl¡±ÀÚ± øÓ¬ÚøÈ¬ fl≈¡Ù¬˘ Î¬◊À~‡ 

fl¡èÚ › Œ¸&ø˘¬ı˛ õ∂øÓ¬fl¡±À¬ı˛¬ı˛ Î¬◊¬Û±˚˛ ¸•ÛÀfl«¡ 

’±À˘±‰¬Ú± fl¡èÚº 3 + 3 

 [·¡]  Ê√œ¬ıÕ¬ıø‰¬S… fl¡±Àfl¡ ¬ıÀ˘ ∑ Ê√œ¬ıÕ¬ıø‰¬ÀS…¬ı˛ &èQ 

’±À˘±‰¬Ú± fl¡èÚº  2 + 4 

 [‚¡]  ¸±˜≈ø^fl¡ ”√̄ ∏Ì ¸•ÛÀfl«¡ ¤fl¡øÈ¬ È¬œfl¡± ø˘‡≈Úº 6 

 [„√√¡]  ¢∂œÚ √̋√±Î¬◊¸ õ∂ˆ¬±À¬ı¬ı˛ fl¡±¬ı˛Ì › Ù¬˘±Ù¬˘ ’±À˘±‰¬Ú± 

fl¡èÚº 3 + 3  

 [‰¬¡]  ¬¸—øé¬5 È¬œfl¡± ø˘‡≈Ú – 3 × 2 = 6 

  (i) ˆ”¬Ó¬±øNfl¡ ¸˜˚ ̨¸±¬ı˛Ìœ  

  (ii) Ú˜«√± ¬ı±“‰¬±› ’±Àµ±˘Úº  

3º  Œ˚-Œfl¡±ÀÚ± ‰¬±¬ı˛√øÈ¬  õ∂Àùü¬ı˛ Î¬◊M√√¬ı˛ ø√Ú – 3 × 4 = 12 

 [fl¡] ¬ı±dÓ¬ÀLa¬ı˛ ø¬Û¬ı˛±ø˜Î¬ ¸•ÛÀfl«¡ ¸—øé¬5 È¬œfl¡± ø˘‡≈Úº 3 

 [‡] ’…±ø˘ [Allee] ¬ıøÌ«Ó¬ ¬ı‘øX¬ı˛ ˙Ó«¬ øfl¡ ∑ 3 

 [·] ìfl¡˜≈…øÚøÈ¬ÀÓ¬ ¤fl¡˝◊√√ øÚÀ˙ ¤fl¡±øÒfl¡ õ∂Ê√±øÓ¬ Ô±fl¡ÀÓ¬ 

¬Û±À¬ı˛ Ú±ºî — ¬ı…±‡…± fl¡èÚº 3 

 [‚] õ∂±ÌœÀ√¬ı˛ ’±‰¬¬ı˛ÀÌ Ó¬±¬Û˜±S±¬ı˛ õ∂ˆ¬±¬ı ’±À˘±‰¬Ú± 

fl¡èÚº 3 

 [„√√¡√√] ¬ı‘ø©Ü ’¬ı˛Ì… øfl¡ ∑ ¤ ◊̋√√ ’¬ı˛Ì… Œfl¡±Úƒ ¬Ûø¬ı˛À¬ıÀ˙ Ê√ij±˚˛ ∑   

   2 + 1 

 [‰¬¬] ˙s ”√̄ ∏Ì øfl¡ˆ¬±À¬ı ¬Ûø¬ı˛˜±¬Û fl¡¬ı˛± √̋√̊ ˛ ø˘‡≈Úº 3 

 [Â√¬¬] ø¬ı¯∏±Mê√ ¬Û√±ÀÔ«¬ı˛ é¬Ì¶ö±˚œ̨ õ∂ˆ¬±¬ı › √œ‚«¶ö±˚œ̨ õ∂ˆ¬±¬ı    

øfl¡ ∑ 3  

 [Ê√] ¸—øé¬5 È¬œfl¡± ø˘‡≈Ú – 1
  

! 

1

2
 × 2  = 3 

  (i) õ≠…±ÇÈ¬øÚfl¡ƒ ¬ıv≈̃  

  (ii) fl¡À˜Úƒ¸±ø˘Ê√̃ ƒ º 
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( English Version ) 

 

1. Answer the following questions.  

    10 × 2 = 20  

 (a) What is pollution ? Write the ill effects 

of carbon monoxide (CO), hydrogen 

cyanide (HCN) and arsenic (As) on 

animal. Discuss the control measure 

techniques of air pollution. 

   1 + (2 + 2 + 2) + 3 

  OR 

  Define conservation. Discuss different 

causes of animal species extinction in 

India. Write the differences of ex-situ 

and in-situ conservation. Write the 

characteristics of IUCN Red data list. 

   2 + 3 + 2 + 3 

 (b) "Environment is multi-factorial" — 

Discuss. Discuss the ecological 

importance of biotic components of an 

environment. Distinguish between 

predation and parasitism.  4 + 4 + 2 

  OR 

  What is niche ? Write in your own 

words about ecological succession. 

Describe the process of regulation of 

population density. 2 + 3 + 5  

2. Answer any three questions. 6 × 3 = 18 

 (a) Write a comparative account of different 

types of forest, their location and 

habitat animals in India. 6 

 (b) State any three demerits of 

eutrophication and discuss on their 

remedial measures. 3 + 3    
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 (c) What is biodiversity ? Discuss the 

values of biodiversity. 2 + 4 

 (d) Write a note on marine pollution. 6 

 (e) Discuss the causes and effect of Green- 

house gases. 3 + 3 

 (f) Write short notes on the following : 

    3 × 2 = 6 

  (i) Geological time scale 

  (ii) Narmada Bachao Movement. 

3. Answer any four questions. 3 × 4 = 12 

 (a) Write a short note on ecological 

pyramid. 3 

 (b) What is Allee growth factor ? 3 

 (c) "More than one species could not exist 

in a niche of a community" —Discuss. 3  

 (d) Discuss the role of temperature on 

animal behaviour. 3   

 (e) What is rain forest ? In which 

environment does rain forest exist ?  

    2 + 1 

 (f) How do you measure sound pollution ? 

   3 

 (g) What are the short term and long term 

effects of toxic materials ? 3 

 (h) Write short notes on the following :  

     1
  

! 

1

2
 × 2   = 3  

  (i) Planktonic bloom 

  (ii) Commensalism.        
    


